Lista 4.

A.
1.a) Vf(—-2,2) = (1/2, 1/4)
b) Vf (—2,0) = (—4,0)

oVf(2,-1)=(42)

2.8)z(—z%+z+2yz> —4yz+2y—2)+ x =0

b)x=24+t;y=-1;z=1+3t

3.a)Duf = ;/—11%
-5
b) Duf = ?

4.a) Duf = V392 ; ocorre na diregdo de Vf.

b) Duf = V/56 ; ocorre na diregdo de Vf.

5.
a)f, (1,2)=5
b) f, (1,2)= 10

) u=(-1,-2), D,f(1,2) = -5v5

B.

La)fxx=6;fxy=0;fyx=0;fyy=4

b) fxx = 2 cos(x? — 3xy) — (4x? — 12xy + 9y?)sen(x? — 3xy) ;
fxy = —3cos(x? —3xy) + (6x2 — 9xy)sen(x? — 3xy);

fyx = —3cos(x? —3xy) + (6x% — 9xy)sen(x? — 3xy);

fyy = —9x%sen(x? — 3xy)

c) fxx = e (2y? + 8xy® + 4x23’4);



fxy = e (4xy + 10x%y? + 4x3y3);
fyx = ezxy(élxy + 10x2y? + 4x3y3);
fyy = e?Y(2x% + 8x3y + 4y*x*)



